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Lesson 1-5 Review Worksheet
Read and follow directions. Show ALL work and steps. Circle/Highlight your answers.

Find the slope.

1) (4,1)and (=7,1) 2) (14,3) and (14,—7) 3) (=1,5) and (—6,—5) 4) (—4,—8) and (4,8)
5) 6) 7)
X y x y ¥
1 4 10 50 X
3 -2 20 100 1) 4
5 -8 30 150 - S -
y X
e

Write each equation in slope-intercept form. Then identify the slope, the y-intercept, and sketch the graph.

8) y=5x-3 9) y+4x =1 10)2x+y =0
Slope: Slope: Slope:
y —int: y —int: y —int:
Y et "
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13)x =3

-8

12) —x +y

11) 2x+5y =10

Slope:

Slope:

Slope:

x —int;

y —int:

y —int:

10

-1

-9-8-?-6-5-4-3-2-10|23456?89|0X

10|

-1

-9-8-?-6-5-4-3-2-10123-156?8910X

10

-1

-9-8-?-6-5-4-3-2-10|23456?89|0X

%(x+4)

15)y +4=2(x—3) 16)y — 3

=0

14) y+4

Slope:

Slope:

Slope:

y —int:

y —int:

y —int:

10

-1

-9-8-?-6-5-4-3-2-10123456?8910X

10|

-1

-9-8-?-6-5-1-3-2-10|23A56?89|0X

10

-1

-9-8-?-6-5-4-3-2-10123456?8910X




Given the information, write an equation in slope-intercept form.

17)(-1,-6) m =4 18) (1,-4) m=0 19) (=2,3) m = %

20) (—2,4) (1,2) 21) (—2,-3) (4,5 22) x —int: —4 y —int: -3



